8 7

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF
VECTOR ELECTRONICS & TECHNOLOGY, INC. ANY REPRODUCTION IN PART
OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF VECTOR ELECTRONICS
& TECHNOLOGY, INC IS PROHIBITED.

MIRROR VIEW OF BOTTOM BRACKET

TOP EJECTOR HANDLE DETAIL

S

o

TOP SUPPORT BRACKET DETAIL

— (1.11) -
i
0.139 +
0.176 N
N
0.76 *
X (0.440)
Y
ID PANEL OPENING - 0.945 -
FRONT L-BRACKET ~—————— 055 ——=
SCREW ACCESS OPENING ©0.170 THRU
I
/ N
/
/
? 0.610 0.510
0.210
+ 0.563
1 \
T — 0210 0.075 ’l -
~—0.120
BOTTOM EJECTOR HANDLE DETAIL
—~—{0.325 |
0.381 T
L 0745
~——— (051 ——=
—=—  0.240 [=—
~— 0.325 —=
+ —=—  0.240 (= +
/ 0.170 + ' o
N M '
) T 0.311 - - ©?0.166 . N
\%J ] l 0.427 I x\ v T 0.260
0.585 N : 0.257 * 0.504 \ | i
0.265
LD ¢ \ ,
N T
| M2.5 HEX NUT
M2.5 HEX NUT
PLACEMENT OPENING — PLACEMENT OPENING
0.159 —= - —= 0.163 ~—

BOTTOM SUPPORT BRACKET DETAIL

~—(0.280 —=
N
N (0.122)

o *

CENTER L-BRACKET DETAIL

MIRROR VIEW OF BOTTOM HANDLE

EJECTOR HANDLE BOTTOM

FRONT PANEL,
ALUMINUM, FLAT
(NOT PART OF HANDLE KIT)

CENTER L-BRACKET

(OPTIONAL ON 6U AND 9U ———_ |

HIGH PANELS ONLY)

M2.5 X 8mm LONG
FLAT HEAD SCREW

M2.5 X 11mm LONG/C%

CAPTIVE SCREW

M2.5 X 8mm LONG
FLAT HEAD SCREW

RETAINER SLEEVE

CM10 PARTS LIST

ITEM NO DESCRIPTION QTY U/M
1 EJECTOR HANDLE, BOTTOM 1 EACH
2 EJECTOR HANDLE, TOP 1 EACH
3 SUPPORT BRACKET, BOTTOM 1 EACH
4 SUPPORT BRACKET, TOP 1 EACH
5 ID PANEL 2 EACH
6 CENTER L-BRACKET 2 EACH
7 RETAINER SLEEVE 2 EACH
8 CAPTIVE SCREW, M2.5-0.45X11mm 2 EACH
9 SCREW, FLAT HEAD, M2.5-0.45X8mm 4 EACH
10 SCREW, PAN HEAD, M2.5-0.45X14mm 2 EACH
11 SCREW, PAN HEAD, M2.5-0.45X10mm 2 EACH
12 HEX NUT, M2.5X0.45-6H 8 EACH

PCB

REVISIONS

ZONE

REV

DESCRIPTION DATE APPROVED

ALL

INITIAL RELEASE 08/31/12

(NOT PART OF HANDLE KIT)

M2.5 X 10mm LONG

PAN HEAD SCREW

M2.5 X 14mm LONG
PAN HEAD SCREW

M2.5 HEX NUT

(0.060 > =

)

BOTTOM SUPPORT BRACKET

-~ 0755 ———————=

ID PANEL DETAIL

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:

DEC X.X +0.1

DEC X.XX +0.03

DEC X.XXX +0.010
FRACTIONS +0.050
ANGLES *1°

NAME

DATE

DRAWN

TRUSHAR

08/31/12

I a 11115 VANOWEN ST,
E NORTH HOLLYWOOD,
CA 91605

REV
A

CM10

D

ELECTROMNICS & TECHMNOLOGY, INC. Www.vectorelect.com

CHECKED

ENG APPR.

MFG APPR.

THIRD ANGLE PROJECTION

QA.

MATERIAL

FINISH

COMMENTS:

EJECTOR HANDLE,
TYPE I, 1101.1

SIZE | DWG. NO. REV

D CM10 A

SCALE: 4:1| CAGE CODE : 82893 | SHEET 1 OF 1

1




